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1. Mr Zhang, a brand manager of a leading FMCG company, now earns $ 45,000 per annum, having been awarded a
150% rise, what was his original salary?

a. 30000 b. 27000 c. 20000 d.18000 e.16000

2. If the average of the number 30, 40, 45, 55, x and y is 45, then what is the average of x and y?

a.47b.50c.51d.53 e. 55

EHAH Ly, ANE 07, ROERTEELRBRAISS T ISR AT R, 1558 B PEBFE Y

&

NARIRERE S EHATILE R, JE4HMRL, BOE B Ol th ARIRTE B, 2 A ) L i sl R B A K4
BUER R E QIR AR KE, KA G SRR AR A LR KT Hfmz s, ReRGIE, A
SEH E ORI R AU o 3 Ay B AL I 1]~

OW OT - Pifp- &% %.pdf

P EAERE R, B 7, Mz

2.2 HIXRSGFIEE PTA

AR T JmAE BBS, RAGKE: 2017 %7 H 25 H
Hudik:  http://bbs.yingjiesheng.com/thread-2109146-1-1.html

off-cycle 5 >J ¥ FE TG THI 3
BRI AR D, RIE TR T KT R EE ), EAR T AR AR SIS TN E. T

—> market sizing ()]s case, flitt Bilg— KRG 2 /DL CHIREIE. S 7 IESE, IFEH ER AR T
HRIER T offer,

2.32017 OT kB! ' 1 1 1

AR T RLEA BBS, KATHSHE: 2016 4 10 H 25 H
ik http://bbs.yingjiesheng.com/thread-2062845-1-1.html

6. In the game Connect 4 players place their counters into a 7 X 6 board, and a winning position consists of
four counters in a row, either horizontally, vertically or diagonally. How many winning positions are there?
A) 57
B) 42
C) 82
D) 69
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30 2351 case. all in English.

case: Suppose our client is a local gym company. Candidates should estimate the market size of the gym in Shanghai and
entry-market problems related...

me: start from the revenue of it. T2k price F1 volume B84y, JEGEIX B AR H Fh A Fp AR [ e e eee

1. price: MHEHME T HMHEZERINHE (membership fee & extra coach fee)

2. volume: population in SH * proportion of people who will go to the gym...("F a3 S fili . AR Tk B 42 i) k32
t4 approach i #)
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2.6 2016 Oliver Wyman Online Test B ET

AR TR JmAE BBS, RAARTE: 2015 410 A 16 H
Hudik:  http://bbs.yingjiesheng.com/thread-1989048-1-1.html
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num A1 verbal B35l GMAT $72% HL (1) problem solving LA & i SC B critical reasoning fR15, KZ AT LAFRIX J5 1 )
TORMASRT, (A4 H0R R num B IR 2 ME2E R, i 38 SO MRS LRI BT DA skip TR 2 AT (382K K
RKRRAKT ) 5 Ky OW e i BRI — /0 (1), AERIEES, TEREAR S RO e i SR 25 560 3
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IRZHFD, FMSER XD 2 2 T =B e, R AR IR BRI OL S, AR A LA B B2 T .
flTHIX R TLZ OW T, SRk~

e

2.7 —HIBEMEEL ? Mt OT Numerical sample

AR R T RLEA BBS, KARHSHE: 2015 4 10 H 19 H
HbJik:  http://bbs.yingjiesheng.com/thread-1990011-1-1.html

2 R (R 7R — AN TR B E B 51 R B R, OT AR f SRl B LB iR 7 L B B, HREEET ..
I — N IR S A

AR S Tuesday 19th.... it LAFIJEG /& i — k2 J — A7 A Wi 3 2

BIRRMNILZCEH T ...

OW online test numerical sample question

1. You have a jar filled with red, yellow and blue balls. What is the minimum number of balls you
must pick

out to guarantee 3 balls of the same color?

2. I have 19 bills totaling $215. The value of each bill is either $5 or $20. I have 9 bills in
my pocket. What is

range of money in my pocket?

3. Whats the area of the shaded region if the length of a side of a square is 1.

e A SRER I http://www.yingjiesheng.com 6 W 4k 20 |
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4. 1 shuffle a deck of cards and randomly pick one card and keep it aside. It is an Ace of Hearts
What is the

probability that the next card I pick up is a heart or an ace?

5. An athlete has 75% of winning the race if he is not injured. If he is injured, his probability
of winning the

race is only 15%. If he total chances of winning is 51%, what is the probability that he gets injured?
6. A bakery sold 10 more cakes this month than it did the last month. It also sold 3 times as many
cakes than

the month before that. If that total number of cakes it sold in the last 3 months is 116, how many
cakes did it

sell this month?

7. What is the area of the shaded region given AB = 2 cm and CAB form a right angle?

JET

|
5 |
I

| believe the answer is — Insufficient Data

8. 1 have a lawn that measures 9m by bm. I dig a 1m flowerbed around it. What is the new area of
my lawn?

9. I have a stock that is expected to grow 330% in the next 8 years. What is its average annual
growth rate?

10. You have an equilateral triangle of length 1 that is divided into 9 smaller equilateral triangles.
What is the

total perimeter of the 9 triangles?

11. Currently, Country A’ s energy demand is fulfilled by the following: 0il - 40% Coal - 45%
and

Windmills - 450 total. The energy demand is expected to grow by 20% by next year. However, oil
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reserves
are expected to go down by 10% and coal by 8%. How many more windmills will need to be built by
next

year to support the country growing energy demands?

1. If x is odd and y is even, which of the following will be even?

A x2 - vy 2

B) x + 2y

C) xy -y

D) xy - x

E) x +y

2. What is the mean of the 25 numbers (a*b), for a and b being all combinations of the numbers
1-59

A9

B) 13

07

D)11

E)5

3. A pen normally costs $0. 60, but the promotion promises a deal whereby a customer can buy twelve
pens

for the price of ten. What saving does this represent, per pen?

A) $0.15

B) $0.10

C) $0.12

D) $0.06

E) $0.05

x divides by 2, but does not divide by 3. Which of these statements is definitely false?

=

X 1s a prime

x=x 2

o O

X is even

E) x > 10

5. In January, Website A received 30, 000 hits, and Website B received 20, 000. In February, A received
31, 000

and B 24,000. Every month A’ s hits go up by 1,000 more than they increased the previous month,
while B” s

hits grow at a constant percentage rate. When will B overtake A?

)
)
) X is a square number
)
)

A) April
B) July
C) May
D) June
E) Never

6. In the game Connect 4 players place their counters into a 7X6 board, and a winning position

consists of

b=
bd
S
b=
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four counters in a row, either horizontally, vertically or diagonally. How many winning positions
are there?

A) 57

B) 42

C) 82

D) 69

E) 70

7. The average customer call to Phoneinc takes eight minutes, and operators work one of three
eight-hour

shifts. From 9pm—bam, 10% of calls are received, and from bam—1pm 100 operators are on shift. If
half of all

callers ring from lpm—9pm, how many people call Phoneinc in one day?

A) 15,000

B) 60, 000

C) 12,000

D) 16, 000

E) 1875

8. Viola has a 30% chance of winning the 100m, a 1 in 4 chance of winning the 200m and an 0. 8 chance
of

winning the long jump. What is the probability she wins all three events?

A) 0.120

B) 0.067

C) 0.105

D) 0.180

E) 0.060

9. A regular dodecahedron has twelve pentagonal faces, and at each corner three faces touch. How
many

corners does it have?

A) 24

20

12

15

30

10. ABC is a right—angled triangle, with AB=4cm and BC=5cm. What is its area?

=)

A) 10
B) More information needed
C) 6
D) 20
E) 12

11. The basketball player succeeds with 30% of his free throws. If he has a set of free attempts,
what is the

probability he succeeds at least once?

A) 0.343

B) 0.063

S Ji A2 SR BRI http://maww.yingjiesheng.com ¥ 9
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C) 0.300

D) 0.657

E) 0.027

12. What is the probability that, in a randomly selected group of seven people, one person will
have been

born on each day of the week?

A) 1/ (1%2%3%4%5%6%7)

B) (1%2%3%4%5%6) / (7°7)

C) (1%2%3%4%5%6) / (776)

D) 1/7

E) 1/(1+2+3+4+5+6+7)

13. The dimensions of the package 2.5m by 3m by 4m. What is its surface area?
A) 60

B) 51.5

C) 59

D) 30.0

E) 29.5

14. Sales have just finished their eighth year of steady growth, and are now twice what they were
8 years

ago. What is the annual percentage increase?

A) 10.0

B) 12.5

C) 18.9

D) 9.0

E) 14.7

1. There were 5 people in group A, with a mean 1Q of 100, and five in group B, with a mean 1Q of
74. When

Jack left the group A for group B, both means increased, and the total of the two new means was
180. What’ s

Jacks 1Q? 87, 75, 94, 60, 80

2. To convert a temperature from Celsius to Fahrenheit, multiply by 9, divide by 5, and add 32

What

temperature is the same on both scales? 40, -32, -72, 72, —40

3. A roulette wheel has 37 sections, 18 of which are red. If you bet on red and win, you double
your money.

Fyodor plays 111 games, staking $50 on red each time. How much money, on average, would he expect
to

win for his $5,500? 5700, 5550, 5500, 5250, 5400

4. What is the mean of the 25 numbers (a*b), for a and b being all combinations of the numbers
1-5? 5, 7, 13,

11, 9

5. The basketball player succeeds with 30% of his free throws. If he has a set of three attempts,
what is the

S Ji A2 SR BRI http://maww.yingjiesheng.com 10 U1 3 20
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probability he succeeds at least once? 0.657, 0.027, 0.063, 0.300, 0.343

6. Every year the sales of LossCo fall to 80% of their value a year before. If its sales were $50, 000
in 2003,

what were they in 2006? 400, 20000, 25600, 32000, 25000

7. The president of the USA serves terms of four years, with a maximum of two terms. If a century
sees 16

presidents, how many of them served a second term? 7, 9, 10, 4, 8

8. Xavier’ s office is diametrically opposite to his house, on the outside of a circular park.
Normally, he cycles

straight across the park, which takes ten minutes. However, this morning, he has to cycle around
it. How

much longer is his journey? 15.7min, 10min, 2.7min, bmin, 5. 7min

9. Dave has a set of 27 weights, all identical except that one is fractionally lighter than the
rest. He has a set

of scales which allow him to place the same number of weights on each side. How many times must
he use

the scales to be certain of identifying the lighter weight? 3, 9, 4, 6, 5

10. My lawn was bm by 9m, but now I’ ve dug a Im—wide flowerbed into it, around the edge. What
percentage of the area of the old lawn is the area of the new lawn? 46.7, 77.7, 37.7, 53.3, 71.1
11. Nigel has $6.20 to spend, and wants to fill his bag with vegetables. Aubergines cost $0. 50,
courgettes cost

$0. 20, he has room for 22 pieces and wants to spend as much as possible. How many courgettes should
he

buy? 16, 31, 22, 6

12. Anne thinks of a whole number from 1 to 10, before rolling a sic sided dice and adding the
numbers

together. What is the probability that the result is divisible by 3? 5/16, 1/3, 19/60, 3/10, more
information

needed

13. ChocoCo want to improve sales of its chocolate bars. The bars are currently 3X8 squares and
cost $0.12

in raw materials, and it wants to increase this to 4X10 aquares. If an extra 750,000 bars are
sold, how much

will costs have increased? 240, 000; 90,000; 60, 000; 150,000; 120,000

14. It takes Nora two hours to paint a wall bm by 8m, and Zack three hours to paint a wall 4m by
9m.

Together, how long will it take them to paint a wall 10m by 12m? 3h45min, 3h, 2h30min, 4h, 3h30min
15. If a>b > c > 0, which of the following is certainly true? a>b+c, ab>ac, a>bc, ac>b 2, ab>c
16. The company has annual sales of $600, 000, of which 5% is profit. The CEO wants to increase
the profit

margin to 10%, but costs are set to rise 15%. By how much must sales increase? 52,050; 128, 333;
136, 667;

91, 553; 121, 050

17. Of the 500 employees, 30% went to University A, of whom 16% come from Town B, of whom 25% went

S Ji A2 SR BRI http://maww.yingjiesheng.com 011 1 3 20 |
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to College C, of whom 50% went to School D. How many employees went to School D? 3, 6, 10, 12,
2

18. A regular octahedron has eight faces, each of which is an equilateral triangle. How many edges
does it

have? 8, 16, 24, 12, 20

19. In 2003, Company A’ s sales were $300, 000, and it is growing 16% annually. Every year, Company
B’ s

sales are $100, 000 more than Company A’ s. What was the average annual growth for Company B between
2003 and 2005? 12, 16, 12.2, 11.4, 25.9

20. A snowman is made of spheres of two spheres of snow. The base has diameter 1m, the head 0. 5m.
What

proportion of the snowman’ s weight comes from its base? 8/9, 2/3, 9/10, 3/4, 4/5

2.8 2016 summer intern shanghai H%

AR R TR A BBS, KAmEA]: 2016 423 H 17 H
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30 2% case. all in English.

case: Suppose our client is a local gym company. Candidates should estimate the market size of the gym in Shanghai and
entry-market problems related...

me: start from the revenue of it. T /&3%4> % price #1 volume P4y, B B2 AR5 PR 1K) .

1. price: MHEHM T HFMHEZEINHE (membership fee & extra coach fee)

2. volume: population in SH * proportion of people who will go to the gym...(F a3 S fiti . LA ik B 4342 i) 7R3z
H4 approach 21 7¥)
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2.9 3EE Numerical
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Hidik:  http://bbs.yingjiesheng.com/thread-1971485-1-1.html

S Ji A2 SR BRI http://maww.yingjiesheng.com 012 713k 20 T



http://yingjiesheng.com/
http://www.yingjiesheng.com/
http://bbs.yingjiesheng.com/thread-2035600-1-1.html
http://bbs.yingjiesheng.com/thread-1971485-1-1.html

e A SR ER R AL AL N fa A SR BRI YingJieSheng.COM

— T AR A, 2 #2TR, W8 competency —# case. case AEH unconventional, SE4 R, THARE AR
ppt, HIRZEHE, REIFIEIERE .

—H

2.10 Hik [E) R

AR TR R4 BBS, KAGKTE: 2015 4F 6 H 29 H
HbJik:  http://bbs.yingjiesheng.com/thread-1971489-1-1.html

A~ Case

S—MREVESRE, 55 1000 4 EH AN D

MR Tough, AL BRI S AR SEAN, FEBRE E, Interviewer — ] =A%
WS T, F—#E W ¥ Director, Final % K257 ik

%
2.11 Views about Oliver Wyman From Vault

ASCIFE R TR JmAE BBS, RAARTE: 2014 410 A 12 H
Hidik:  http://bbs.yingjiesheng.com/thread-1885083-1-1.html

5 RS KR WS A BT i) ANMKAEATT— S Jin g !
EN-

1
A,

Oliver Wyman.pdf

Oliver Wyman Europe.pdf

2.12 Oliver Wyman Assessment Test in Cambridge, UK
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FHAHARH, Fshl (IR ZEAR L, 25, 30 @8 20 %8k, A FIRMEMSE, SREBMAZET, 108
WA, DONA 30 0%, S5RGHMEHS SRS &E, RT 10 JUE, ROxIEFZERILEA RIER, instruction

e A SRER I http://www.yingjiesheng.com 013 1 3k 20 T



http://yingjiesheng.com/
http://www.yingjiesheng.com/
http://bbs.yingjiesheng.com/thread-1971489-1-1.html
http://bbs.yingjiesheng.com/thread-1885083-1-1.html
http://bbs.yingjiesheng.com/forum.php?mod=attachment&aid=MTA3MzE4fDA0ZjA4ZDFkfDE0MzA4MTcyODR8NDQzMzM0fDE4ODUwODM%3D
http://bbs.yingjiesheng.com/forum.php?mod=attachment&aid=MTA3MzE3fGVhYmM0NmVmfDE0MzA4MTcyODR8NDQzMzM0fDE4ODUwODM%3D

e A SR ER R AL AL N fa A SR BRI YingJieSheng.COM

EUE T ITHE T RN

A critical reasoning [ H LCECRRS, A2 BTZR ) SRR verbal A—FF, JEA F#E—BOEAEHEE, 1 GRE
A GMAT @R AR, RBWEHE, i XA —EE 34 K E/E LONDON A 1million ) A3K T house, {HJZ
A 9million [ viewing, FrUAGSIL IR Z NEKRE G T AL SEpEF R« LA~ 4518 2 undermine DL L)
statement [¥], IEIUA T4 Lk, A ANUBPIE T 3 BEA LK.

ZERFEH JF R R R, NS T R EAKR, BT T, WIS R R T .

MAGREIXANEL, U TR, 2HEE - RAFROIRAR, HEEES FT, MAERRLA R T A
f¥] eco RIEARAG W), M0 HILAE ipad AR TR SCE B TS @iee, RA M. mBliT 12 EZR i 1O
FUER I A 3

p.s. Fiil OW 7EE A RIR K, XA REE A4 AR T
2.13 OW London —Mm

HIEHIRIXE 7 — M, KIHSGE A NH london 1), AAEEKA.... share — NIE, BRI EFFRH—

Lt

M assessment test JF4G U, AUSHFANKE, AUEEE S, 30 70h 20 @, Ho skip FEGETHEIE (BRARGEHHRRRIL ! D ,

SRJ5 verbal I, % %k GMAT logic 2 X i IEAA R AR LR BIAROK, S0 1 0Bl 1B, 80%MIIEMHREANZ
(ROAHE T 2B —20) FRECEM verbal #1722 WHIFET, 3 PGS IEMFR 2 AL 900%, I LEHMESE

K, PrUABRAETHETS T 18 0 2 A TE

Ja k&% —%, both GMC and FSC

FSC —A~ CV [i—~ case, CV [HLER relax.... ANid 5 R I F| K feedback s& one of my answer was over
prepared....=.=

case LU HIAS typical.... 5% T mortgage credit risk, 2 H SR 1R 2 fh 26 &, 38 B2 R AN/ D2 5 R & . T LA basic econ
FIIRLF ¥ date convert ji% graph fRE 7R EE, FoeriIRmERE N Z T — 5, RiZ5.

GMC, P4 case, —A> airline —A retail, 5— A, par HELESEIL, o ~Aattbiexd 7. £ 7 —HE data,
WAEHTHE R, 28 R URE B RATH client A ZA G 72 a2 1 HARAE PR AN BAR K retailer 52t
LB, AEIEEGE A O F, EIHARYE low profit margin A1 large volumn LAz K& branch & H T X /& supermarket....
AUFaksE. IXA case MR IRZ IR ZHAE, M HMEEMHA%85], T2l Bk m.

7E ORIl AE B CAUEM ! JRRIERR IS, RARR. A OW IIRERERE, RIRA IR, ZHRIhR
ik

WEFT LA points to take away from this experience:

- AWIEHEK care —MNRPE, HERINE L T AR AL E relax! 1 HIX A case B E A2 KK 7K

- i OW 1) case 13 1R % i 1) element..... T LA K S BT U 5. 5] ~~

- S H IR Z R4 gquide, B — AWty 1, FESXAMR, skimthrough 1 3 A, HsZ#fKFE/NF, mHEHT
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HLRHEHE basic 1), employer fixJm H E S AEFHARRINIESR . I 2 1R — 5 business basics, 245 R GER #1137
RIET

2.14 RAGHEIRAE R

F—IRIEERE, F41 0N, EARBERNH, EHWL ERAEMART, AN — I rE st 4 n,
MAATGHEN O . (HR T AAZEE SRR RERRN L. . ESER.

WG, EaMEFEE, XTWHEY, WaRHE —H M T S, 75 a i, R LAERIIL S S E
SCREER, T b SR TT DARE RN S N VRSO, R UREAERAN IR T SRS, AT R 0] DLE HOE G

A NEA 5 4B 258, REUH ik a iI62 b, EBFEMFEMAMEAN—H, FX 5B A 2 ae s vl R
J7o

Rk THRERa, Y FRA3IMANET a, UM 3 ANEHHENSGSRURNT 7 MA. . . BfEar
g u e JIRAGINZRIMPZIE b (1), (HRRWFESAZED, G 7L Rt i, (AT LL—Ur 2577
PSR 3 CRSLI7 SRR IR A4S T, B INERKd e f e n d B, {HEXZEU—MAIRA JCEHLH
PASFE . FAAFAHAENEXT T HIFS:, AZGAE “HRE] TR0, 18 T ates 77, RZE—F]
PAHEsZ 17 B

X—fedjE, AR 1.

—ANE R A, L AR, SRR R EAASE AN a re AL, BRI TIRARA,
BAABEERRIZ. ..

HAMENcas e (BFUWEHITE , BRERTHE.

WE R, HarhER EHZAON, 100 558, 20 0 JEEEFEALE, WEEWER EE20N, Nt
oo ARG AR A, FERWEELL) . KRS LR T REME,  GF IR 2 2R .

SRFE T X, X JUF AT Re R ? ? ? @@

WEAEEA IMNEB R, Ahses 7T E. Wi, RIAER 200 04N, 100 GFEFIKEFZ
DRGSR BIE AN, o AR, FRHOCEEE T — AN ERSML, mEn, A RIESE?
DASRWAPEIET? . . . XA R U2 CRRRG) M) o A, R TR E 2
WE—Fh A, RFREATEGRLAZE? Wk %, ARG R 2 0 0 0 MAREBRM KA. JyiHk. . . BT
AT PR VAR, R DA K 2 A 25 o 7 W o T

SRIEAUL, HEERZZ RS, BIABERRRE BILE, MURARERERE, —aoilt R — A igEr
A% o

AR, . mE. oL BYT

At X —fe Rt T~ g ina l

—34aNHE, A3 0%, 34 case, —=ICV.

CVAHZE.

cas ek, #REIT. ARKEEHER case bo o kFIRGRM. AR, X2EFS CHE
7o

A, I, WA KEMPE SR, BT, KR BREERAT. W, WREG R — N AEKE B
FE—FKEUT, MZUfTA? X c a s e WK 7, BlH/5tHEFon track.

A, A E B ST AT AR, ARSEASIX AL L AL R AL AT A 2

F=A, KT —MUTIIRIKRAER &, X KR Z MW a5y, . .

M EHFEREE ORI, EEEE, WA c a s e fSAL, HT .
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215 REGHAEETE

ZKAENIHIZER RN 14 5 NALE TR RS final ME, ik RREK o=

Final »& 3 4 case il—~> CV interview:

AT R AT E 5E R default risk

YL — D ERAT S DT R I R A A, B AR I BT 2R AT default risk, i H—A
distribution K. FRAFERE LR EMH 4 Gl LA, o ), MHELR SR —BERE. » RIX
e AR 1, 5T case Rl T —F==Tt7, LEE, Hatka, mikEH AR AW, AR !

BN RBREEAKE FEART, NIZEAR? BABER? KER TEARTIXMAT, Mtk e—
FE

X case YEFITEZLE AR ? 2 IRITEIFE TR T, Ja AT EAEA framework A4/, EGTARAB AW &
SKARMY marke size fliTH, WETCIERE, SARME; TRRTEENET ! & TIRZ silly questions, Ea1 A
BEE R RBATH AN -

B AN EE A M iZ 42— insurance scheme?

XA case IS LR IE R, it FU VAR A A AR AL, FERR A T — FIXA TR, B 5 X it
FMAETFHIFEM, BARFRAFIE RIS ART, (HR& S hk 7 — 2, 1 BIHGE A E B U, AR
BRI T ~

FVUANE CV O ERELF U o o RE A, career goal, A& .

KGR LU NS 2010 Z i BRAR I AR BS T BORE, AT BRI 2 B J7E 2010 AT BURL L,
WRARAE Z R /1, ARAT AR R T BT IRIEBER Bk

2.16 REGHIMEZH

XRERAKE LGS ERHEHRM A A, BER -EHREERNAFZ —.

PaAE R 1) mercer 1R K, AKE g KD AFZ—, P AN ATETEIR A AR dow —THIZTH hro ihi7]
TARZ IR, B EN P EiE— VR4l A . 2 J5TF46 open questions. 1RE I, At AREHE, A4 &M,
RBEAIR R LIE G, ARGEAFARIEA e 7 B = 2 AT AR N L TR E %K KEW hr #R %
] ) — AN FEFE P R a0 SRR B AT R AR — AR, RIS EAB? hr i, WA URG BT )
KPR, REEAUL? blog FRECAINSR T, AN RIMEERMOmEH, —eBRiesR. A
B hr ik B ERIRIEXANERM . — RS K, A RITHIGEMILE —m.

THARIES, —ILPIET 5 NN, BLFE IR A 1 AN/ mercer IROKTT, FRZE T LUE ZeHR T RN R SR
BEIZ, KRMINZ T — KA, WERYCR, Wi, FEER S, ek, —FAR. AL FR, fh
st M social I T iR— NI, #B/2 personality FIZRZR. PZURARMIIR, U2 H 4R IBMER T Aid F e
IR, AIRZ NHEXA AL, JA A6k, MNEEREZ T 2R T XEBamk 1.

ZJEHIEZAF NGB . Jeski2 intern BB FIWREF B intern BIHAFT N EABARRE. AT T
IRZWING S, HEFAK, MRS B, AR, 2R ERRXE, BT, SRR
St am A, A BERXRAZES? It ARREEA R SR . HSiR G — A8 — I RaE R, BoRE
WA A TR R ET A4 . TEAS intern FEAKGEIRIIFET . ARG K — € B ST . G2
R, AFNEZIOEA . AT ANEBR R, FTUARFF ORISR T FA L FRGRZIT . hA1h ;R4
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T A consultant fAETE, WrE1REF, BRILAE RAFIRAALL,

ZJEREI T ANZ—, 1ET 13 £Ef senior consultant. A4 i) SERE 1], wEERFRI0 7 IR, EHE] 7 HH R
K, Wkt westin CEHAL T RIRE)IE D IR, S 3EFARR WX A KA H . iRV, AT retirement
department x&4> mercer # fun FEEIT. X BAEEN NERAEHELF, 1 HEA — M ANSTELE R BRI W& 55
Wi, SAEEAEE, AEIRAT2 Ak B &R intern T, SERNIE TRZ N, BRI D A& K o

AR EBIFET o WARE hr FERERI S, R — @82 EV0X AN H . ML FE. SR T, O
HARZH0 T .

PR REM RTINS R M IR R B, SR BERR T o AT R EOE 7 IX AN .

iR A2 Y hr, BARKER N4, AL hr jj R, w2 e A1) career fair U IR 7,
RN AL AFR) MR T AR RERIE R, B/ 25 EREE

— R Nk, HEHEHCKIESLEL. M0 consultant ) AEIRIFREM, MM EIRLE, TAERER TSR
RVE ). ME—ARRI LT k2, AN ERE T RIENE —R# L, IREA LIXAZEE? HFREZ A

FERE T HEREIK SRR, SRR RIS offer. FFby, AT LLSZEILE L NERIS R], A7a 28 28 Hh iz 75 downtown
s EREE T D

Case One

Interview: A Foreigner

Case:

Suppose a bank has three units which serve large corporate, small corporate business and individual business. For
this bank, 90% profit comes from loan business, so you are going to find more details about the loan business of the unit
of bank that caters to the large corporate business. You are going to provide the P&L analysis with detailed figures, given
that the total loan is 100billion USD. Me: In order to estimate the profit, that is the revenue minus cost of capital, | would
like to know about the term structure of the bank..

Interviewer: Please use concrete figure.

Me: So how many customers are there of our client?

Interviewer: It's up to you. How do you think with the 100 billion USD? Me: Then suppose we have 10 clients with
10 billion each. Then I'd like to suppose the term structure. Let's say 50% of the loans are long-term with average year to
maturity of 10 years, 30% middle term with YTM 5 years, and 20% short term with YTM 1 year. How do you say to that?

Interview: Fine.Me: Suppose the interest rate of long term is 8%, middle 6%, and short 4%, so the average is 6.4%.
So each year we have interest revenue of 6.4 billion USD.

Interview: What about the cost. You don't have to estimate in detail of the cost.

Me: So just suppose an average 4% of interest rate.

If the market is mature and the bank’s market share remains constant. What

might bring down the profit?

Key: Non-performing loans.

Case Il: What's the population in year 3000?

Case IlI: If a US bank is going to set up a headquarter in Asia, what do

you choose? Singapore, HK, SH or BJ ? Why?

=
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2.18 +ET GMC online numerical test B9l

[A 24 practice test [k EEAR AR 7 7™ B 52 LU o, BT DAFE R R I b B o BRAS A 2B B E L R AE 7 K
R ®) numerical B, 20 234 30 8, FEAUR practice SS5MEAS N A HME FEAE X Skt oA D, s
AR B8 . FFIEAAFIE BN EAMEEA s B E H, R 2578 L THIR A S &b /2 skip 2,
{H & P E SN T REAMYUE [R], SSRGS B . IR E — @ WO AN skip $5 9R I 8 H !
T mE ) office, &R TN FNIRNZRITE(S, FAWRINE NFERHE T A GRS, & HARE
B S TH PR AR AR LR AR AR SE S )

PR F Uiz !

F=E. RAHMEKEGER

3.1 BR#EZia/ i ER mR##E T CCER

HE ONHE PN, —F—EREREES 2 K. 9 H 27 B, 2ERGUEH TSR LR
RS R 1K) 2 44 ) 8 7] 2R A7) (Oliver Wyman Consulting) SKFJL K S0t d 0 . BLLE 5 A 7
FE TR R KRR R R & F S WA T 2 —, T 2007 4£ 5 H 9 H Hih 5 = KA5E F A A F 137 5 A1 10 %6
O] LA G Rl SRS A F) (Mercer Oliver Wyman). 3 178 B i) /A =] (Mercer Management Consulting) Fl13% ti: 4
IR 2H 21 ) /3 7] (Mercer Delta Organizational Consulting) & F£1 A, & 35 FHT A 5 g0 — 1 i L A4 FR B 2h &
) (Oliver Wyman) . HiAaWWANEES TIRIERATIANRAIZL, fEEHIE. &8 KGEE, HHUR
F IR AR AL Re

M, BORFTETCEEE, 8 A7k B SR A =] S B a 234 ITRT KNI ER Mo N B (R R 53 R B 337,
SEZEATAT 7S WATWATS MBI AT, FEArk T — R B L K.

LR, LR 24 Joe Badino LA uER XUER . #EIE T HRBNE T Ha g, FIEI
[ RS, WP IE R B A R 1 — SHER, B, Ean Joe fERyFRIM), «BESRBATN TAER ]
Feike, HA2 TR AR IR IO, WRE W R M IRNHE T ARRZ RS RN ZRRAE, CLLEH]
WA SR AT IRER 5

K H B )11 Ellen HU 2o m) 237 R 24 PEAIAN 48 7 #E NS ATV BT 75 B 2L A& AN 5 DL B ) R 91 1)
AEPEIRE, AR RFEXFEWATIA TIRAN T i, - HAEHZAT M FE 3800 T B S KRR <SRl 2
—MRSATI, AR BN, AR R R P AR AL A R, BIARATT o TR R R B DI R R, Elllen
PRERAT, “BWATIARMICE PR ek, Bl AR WO M Be I 9t B TR i 8, IF HA R LA dE Re
PIEV AN EANBAE R ARMAL, HHEFEDGRZAMENE RN, HE, NERGIIRE MG,
PRaT LA 5 22 B4

M2 G, BAEHAF SR Grace QIAO iR Nk AR T & ATk O i F g . dbiie,
HWFRE— B N R R I AR R, R AR R IR M) T RERE, HCA A OCE R B T EK
MEA, BESIBRUAME B RN IEE. MR RRE BN AN TRe 7. PR E IR ). BIRE . QliE T
RN AR RE 155 XL Rf R4 B8 TR N AT 2 W2 BAS i B, B R 7 2 5 R R b A= 8 v 1) B vy
JZ RV HRA FR T 2 18 W R A AT B EH

BRI R UK, R E Wolfram Hedrich 5648 582 A # MR E A4 5E J5, Hedrich sS4 42 H
). S SAEE 2 /A RER (How many tennis balls do you think there are in the UK) 2 “TiiiR & M [ 1) A 1%
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BAT, BRI, Hedrich SoA ka2, XX RO Al A, il s AN 7 ZE RIS 1 IR B R ——X
AN B T FBUAR VA T 25 SR —— i T B — 2D R 2 SR R R SRR A I B o 1) B T 3 R ok
R 5V, T i) R R RE A8 S AT AR AR EE

i fia, REEW A TN G T I RS RS 7 AR . SR E BB Pan Yan & RIAT, R
WIS E B SR TR LA KA, MR AT 2 7 E AL A bbs A1 K HHES R o

2

N A SRR http://www.yingjiesheng.com 019 T Ft 20 T

\|



http://yingjiesheng.com/
http://www.yingjiesheng.com/

A SR IR AL M JE 4 SRR YingJieSheng.COM

fysk: BEZRBUFETBHER

SRENES: DEAKRINEREE (BT=R, 2019 &REABHRD

TEHbE: http://download.yingjiesheng.com

BTG AR RSN mPEE. Bl AV AR AR LS4, R
B A5 R U BINEAE RIS R R — AT, RIS T &SRR A A ATk S dib A RIS BB
% Hi % Open Question. {3 H1 S SCREAR S Sl i v« TR A 2R A28 L )7 RS 58 R AR BIRESS N %, 2019 Ji[F)
FORIAHERE LT

N fRAESRERM YingJieSheng.COM, = [ 4% 5% (k2 4 SR BRI 3

http://www.yingjiesheng.com
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